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Chemistry 11
SCIENTIFIC NOTATION + SIGNIFICANT FIGURES

Why use Scientific Notation?
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1. Converting Ordinary Notation into Scientific Notation:

a’299793000>  g.99 1932 xia8
b. 00000005893 > 5 .gq3 S
-1 .

2. Converting Scientific Notation into Ordinary Notation:
a. 1.8x10° > 18000

b. 5.39621 x 10° > 0.C00BDMOS TG o |

3. Mathematics of EXPONENTS

When multiplying you ADD exponents S
b . .

B0« ot - G+ =10

When dividing you _ SUBRACT _ exponents
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4. Using your SCIENTIFIC CALCULATORS to perform mathematical
calculations involving Scientific Notation.

A (5.8x10%)(6.7x10%) ,

! Enter ( 5.8 exe 3)

i, Enter ( %)

i. Enter ( ] EYPOS)

iv. Convesrt an6$wer.in’5? correct number of si_ figs :

- (5.8x10°)(6.7x107 ) =¢, — ] 3.9 x o
- s 2886 2__‘:7’_61 x|

B. (2.7 x10%)+(3.9x10%)
v. Enter € &1 exe - =57)

vii Enter (%) | |

vii. Enter ( 2.4 ©xp@ — %)

viii. Convert answer into correct number of sig figs 3
L (27x10° )+ (3.9x 10°%)= 0.3 — [,(;_E(m

(7D D ,

C.(35x10%)+(54x10°) 9
ix. Enter{ .S &> I \
X. Enter(-+) . .‘ (ciecm’ml 2 locces

xi. Enter (5.4 exgu <
Convert answer into correc?number of sig figs — z
- (35x10°)+(54%x10°)= 543500 ——éﬂji‘f?n ¢ 10
3500+ 540000

D. (6.25x 10" ) — (3.52 x 10°)

xii. Enter : 6. 2S5 ®xp 1) ) N
xiii. Enter (=) : {n. | .
xiv. Enter { 2.Sa <o’ ) . ( decimal p\a&&
Convert answer into correct number of sig figs \

-
- (625x10*)-(352x10°)= — QBQSTO —%/—&8ﬁ§slogi




